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General notes: Bread |1 Icing Refill

1. There are 2 types of customers who order:

*  17% Self-help orders (silver) Bakers (2) 4 N(30,5 Xp(0,4

*  83%In-store orders (blue) Finished baked

2. There are 4 types of products sold (Equal probability of occurring) goods

* Doughnuts, Bread, Cakes and Muffins

3. The model is built in minutes and meters (e=/1000)

4. Simulation runs for 1 days, from 08:00-16:00

5. Employees take a lunch break: 12pm - 1 pm Employees (3)

6. Workload is evenly distributed between each group/equipment

7. Conveyor speeds are 90m/min Order consolidation
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